
 

Half-Reaction E قوة العامل المختزل
0
 (V) قوة العامل المؤكسد 

ـــــ
ُ
Li ـــــزلِــــــــتــــــــــخــــــــم

+
(aq) + e

-
 → Li(s) -3.05 مؤكسد 

ــــــ
ُ
+K ـــــزلِـــــــتـــــــخــــــــم

(aq) + e- → K(s) -2.93 مؤكسد 

ـــــ
ُ
+Ba2 ـــزلِـــــتــــــــخـــــــم

(aq) + 2 e- → Ba(s) -2.90 مؤكسد 

ـــــ
ُ
+Na ــزلِـــتــــــــخـــــــم

(aq) + e- → Na(s) -2.71 مؤكسد 

ــــ
ُ
+Mg2 ــتـــــزلِــــخــــم

(aq) + 2 e- → Mg(s) -2.37 مؤكسد 

ــــ
ُ
+Al3 ــزلِـخـتـــــــم

(aq) + 3 e- → Al(s) -1.66 د  مؤكس

ــ
ُ
-H2O + 2 e- → H2(g) + 2 OH 2 زلِــــختـــــم

(aq) -0.83 د  مؤكس

ـ
ُ
+Zn2 ـختــزلِــــم

(aq) + 2 e- →  Zn(s) -0.76 د  مؤكس

ـ
ُ
+Cr3 ختـزلِـــم

(aq) + 3 e- → Cr(s) -0.74 د  مؤكس

 
ُ
+Fe2 ختزلِــم

(aq) + 2 e- → Fe(s) -0.44 مؤكسد 

خ
ُ
+Cd2 تزلِــم

(aq) + 2 e- →  Cd(s) -0.40 مؤكسد 

 
ُ
PbSO4(s) + 2 e- →  Pb(s) + SO4 ختزلِــم

2-
(aq) -0.31 مؤكسد 

خ
ُ
+Co2 تزلِـم

(aq) + 2 e- →  Co(s) -0.28 مؤكسد 

ختزِل
ُ
+Ni2 م

(aq) + 2 e- →  Ni(s) -0.25 مؤكسد 

ختزلِ
ُ
+Pb2 م

(aq) + 2 e- →  Pb(s) -0.13 مؤكسد 

ختزلِ
ُ
H 2 م

+
(aq) + 2 e

-
 →  H2(g) 0.00 مؤكسد 

ختزلِ
ُ
+Cu2 م

(aq) + e- →  Cu+
(aq) +0.13 مؤكسد 

ختزلِ
ُ
-AgCl(s) + e- →  Ag(s) + Cl م

(aq) +0.22 مؤكسد 

ختزلِ
ُ
+Cu2 م

(aq) + 2 e- →  Cu(s) +0.34 مؤكسد 

ختزلِ
ُ
-O2(g) + 2 H2 + 4 e- →  4 OH م

(aq) +0.40 مؤكسد 

ختزلِ
ُ
-I2(s) + 2 e- →  2 I م

(aq) +0.53 ؤكسدـم  

ختزلِ
ُ
MnO4 م

-
(aq) + 2 H2O + 3 e- →  MnO2(s) + 4 OH-

(aq) +0.59 ؤكسدـم  

ختزلِ
ُ
+O2(g) + 2 H م

(aq) + 2 e- →  H2O2(aq) +0.68 سدـؤكـم  

ل ختزِ
ُ
+Fe3 م

(aq) + e- →  Fe2+
(aq) +0.77 سدـؤكــم  

ل  ختزِ
ُ
+Ag م

(aq) + e- →  Ag(s) +0.80 سدــؤكــــم  

ل  ختزِ
ُ
Hg2 م

2+
(aq) + 2 e- →  2 Hg(l) +0.85 دـــــؤكســــم  

ل  ختزِ
ُ
-Br2(l) + 2 e- →  2 Br م

(aq) +1.07 ـدــــــــؤكســــــم  

ل  ختزِ
ُ
+O2(g) + 4 H م

(aq) + 4 e- →  2 H2O +1.23 ــدــــــؤكســـــــــمـ  

ل  ختزِ
ُ
+MnO2(s) + 4 H م

(aq) + 2 e- →  Mn2+
(aq) + 2 H2O +1.23 ـــدــــــــــؤكســـــــــــم  

-Cl2(g) + 2 e- →  2 Cl ج
(aq) +1.36 ـــدــــــــــــــؤكســـــــــــمــ  

ل  ختزِ
ُ
MnO4 م

-
(aq) + 8 H+

(aq) + 5 e- →  Mn2+
(aq) + 4 H2O +1.51 ـــــدــــــــــــؤكســـــــــــــمــ  

ختزلِ
ُ
+PbO2(s) + 4 H م

(aq) + SO4
2-

(aq) + 2 e- →  PbSO4(s) + 2 H2O +1.70 ــــدـــــــــــؤكســـــــــــــــــــمــــ  

ل  ختزِ
ُ
F2(g) + 2 e م

-
 →  F

-
(aq) +2.87 ــــدـــــــــــــــــؤكســـــــــــــــــمــــ  
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